AN OPERATOR EXTENSION OF ČEBYŠEV INEQUALITY

HAMID REZA MORADI¹, MOHSEN ERFANIAN OMIDVAR², SILVESTRU SEVER DRAGOMIR³

ABSTRACT. Some operator inequalities for synchronous functions that are related to the čebyšev inequality are given. By using the concept of quadruple *D*-synchronous functions which is generalizes the concept of a pair of synchronous functions, we establish an inequality similar to čebyšev inequality.

1. Introduction and Preliminaries

Let us consider the real sequences $p = (p_1, \ldots, p_n)$, $a = (a_1, \ldots, a_n)$ and $b = (b_1, \ldots, b_n)$. Then the Chebyshev functional is defined by

$$T_n(p; a, b) := P_n \sum_{i=1}^n p_i a_i b_i - \sum_{i=1}^n p_i a_i \sum_{i=1}^n p_i b_i,$$

where $P_n := \sum_{i=1}^n p_i$.

In 1882-1883, Čebyšev [3, 4], proved that, if a and b are monotonic in the same (opposite) sense and p is non-negative, then

(1.1)
$$T_n(p;a,b) \ge (\le) 0.$$

The inequality (1.1) was mentioned by Hardy, Littlewood, and Pólya in their book [6] in 1934 in the more general setting of synchronous sequences, i.e. if a, b are synchronous (asynchronous), this means that

$$(a_i - a_j) (b_i - b_j) \ge (\le) 0,$$

for each $i, j \in \{1, ..., n\}$, then the inequality (1.1) is valid.

For general, real weights, Mitrinović and Pečarić have shown in [13] that the inequality (1.1) holds true if

$$0 \le P_k \le P_n$$

for each $k \in \{1, \ldots, n-1\}$, and a, b are monotonic in the same (opposite) sense.

1

²⁰¹⁰ Mathematics Subject Classification. Primary 47A63, secondary 47A60.

Key words and phrases. Čebyšev inequality, selfadjoint operators, synchronous (asynchronous) functions, functions of selfadjoint operators, positive linear map.

A related notion is synchronicity of functions. We say that the functions $f, g : [a, b] \to \mathbb{R}$ are synchronous (asynchronous) on the interval [a, b] if they have satisfy the following condition:

(1.2)
$$(f(t) - f(s))(g(t) - g(s)) \ge (\le) 0,$$

for each $t, s \in [a, b]$.

Dragomir [7] generalized Čebyšev inequality for convex functions on a real inner product and applied this result to show that if p_1, \ldots, p_n is a sequence of non-negative numbers with $\sum_{i=1}^{n} p_i \ge 0$ and two sequences (v_1, \ldots, v_n) and (u_1, \ldots, u_n) in a real inner product space are synchronous, namely, $\langle v_j - v_i, u_j - u_i \rangle \ge 0$ for all $i, j = 1, \ldots, n$, then

$$\sum_{j=1}^{n} p_j \langle v_j, u_j \rangle \ge \left\langle \sum_{j=1}^{n} p_j v_j, \sum_{j=1}^{n} p_j u_j \right\rangle.$$

Recently Dragomir in [8], proved the following theorem.

Theorem 1.1. Let A be a self-adjoint operator with $sp(A) \subseteq [m, M]$ for some real numbers m < M. If $f, g : [m, M] \to \mathbb{R}$ are continuous and synchronous on [m, M], then

(1.3)
$$\langle f(A) g(A) x, x \rangle \ge \langle f(A) x, x \rangle \langle g(A) x, x \rangle$$

for any $x \in H$ with ||x|| = 1.

Motivated by the above results, we provide in this paper several operator extensions of the Čebyšev inequality. Some applications for univariate functions of real variable are provided.

As is customary, we reserve M, m for scalars. Other capital letters are used to denote general elements of the C^* -algebra $\mathcal{B}(\mathscr{H})$ of all bounded linear operators acting on a Hilbert space $(\mathscr{H}, \langle \cdot, \cdot \rangle)$. An operator $A \in \mathcal{B}(\mathscr{H})$ is called positive if $\langle Ax, x \rangle \geq 0$ for all $x \in \mathscr{H}$, and we then write $A \geq 0$. For self adjoint operators $A, B \in \mathcal{B}(\mathscr{H})$ we say that $A \leq B$ if $B - A \geq 0$. The Gelfand map establishes an isometrically *-isomorphism Φ between the set C(sp(A)) of all continuous functions on the spectrum of A, denoted sp(A), and the C^* -algebra generated by A and I (see for instance [15, p. 15]). For any $f, g \in C(sp(A))$ and any $\alpha, \beta \in \mathbb{C}$ we have

(I)
$$\Phi(\alpha f + \beta g) = \alpha \Phi(f) + \beta \Phi(g);$$

- (II) $\Phi(fg) = \Phi(f) \Phi(g);$
- (III) $\|\Phi(f)\| = \|f\| := \sup_{t \in sp(A)} |f(t)|;$

(IV) $\Phi(f_0) = 1_H$ and $\Phi(f_1) = A$, where $f_0(t) = 1$ and $f_1(t) = t$, for $t \in sp(A)$.

With this notation we define $f(A) = \Phi(f)$ for all $f \in C(sp(A))$ and we call it the continuous functional calculus for a self-adjoint operator A. It is well known that, if A is a self-adjoint operator and $f \in C(sp(A))$, then $f(t) \ge 0$ for any $t \in sp(A)$ implies that $f(A) \ge 0$. It is extendible for two real valued functions on sp(A). A linear map ϕ is positive if $\phi(A) \ge 0$ whenever $A \ge 0$. It said to be normalized if $\phi(I) = I$. For more studies in this direction, we refer to [2].

2. Main Results

2.1. Inequalities for Synchronous Functions. First of all, we state a generalization of Theorem 1.1 for normalized positive linear map as follows:

Theorem 2.1. Let A be a self-adjoint operator and $f, g \in C(sp(A))$ are continuous and synchronous (asynchronous) functions, and let ϕ be a normalized positive linear map on $\mathcal{B}(\mathcal{H})$, then

(2.1)
$$\langle \phi(f(A) g(A)) x, x \rangle \ge (\leq) \langle \phi(f(A)) x, x \rangle \langle \phi(g(A)) x, x \rangle,$$

for any $x \in \mathscr{H}$ with ||x|| = 1.

Proof. We give a proof only in the first case. Since f, g are synchronous functions, from (1.2) we have for any $s, t \in [a, b]$ that

$$f(t) g(t) + f(s) g(s) \ge f(t) g(s) + f(s) g(t)$$
.

If we fix $s \in [a, b]$, and apply the functional calculus for the above inequality we get

$$f(A) g(A) + f(s) g(s) 1_H \ge f(A) g(s) + f(s) g(A)$$

and since ϕ is normalized positive linear map we get

$$\phi(f(A) g(A)) + f(s) g(s) 1_H \ge g(s) \phi(f(A)) + f(s) \phi(f(A))$$

or

(2.2)
$$\langle \phi(f(A)g(A))x,x\rangle + f(s)g(s) \ge g(s)\langle \phi(f(A))x,x\rangle + f(s)\langle \phi(g(A))x,x\rangle,$$

for each $x \in \mathscr{H}$ with ||x|| = 1.

Apply again functional calculus to obtain

$$\langle \phi(f(A) g(A)) x, x \rangle 1_{H} + f(A) g(A) \ge g(A) \langle \phi(f(A)) x, x \rangle + f(A) \langle \phi(g(A)) x, x \rangle.$$

Again, since ϕ is normalized positive linear map we get

$$\langle \phi(f(A)g(A))x,x\rangle + \phi(f(A)g(A)) \ge \langle \phi(f(A))x,x\rangle \phi(g(A)) + \langle \phi(g(A))x,x\rangle \phi(f(A)) \rangle$$

or

(2.3)
$$\langle \phi (f (A) g (A)) x, x \rangle + \langle \phi (f (A) g (A)) y, y \rangle \\ \geq \langle \phi (f (A)) x, x \rangle \langle \phi (g (A)) y, y \rangle + \langle \phi (g (A)) x, x \rangle \langle \phi (f (A)) y, y \rangle$$

for each $x, y \in H$ with ||x|| = ||y|| = 1.

Finally, on making y = x in (2.3), we deduce the desired result (2.1).

The case of norm operator may be of interest and is embodied in the following remark.

Remark 2.1. Let A be a positive operator in $\mathcal{B}(\mathcal{H})$ and $f, g \in C(sp(A))$ asynchronous and non-negative functions, and let ϕ be a normalized positive linear map on $\mathcal{B}(\mathcal{H})$. By taking supremum over $x \in \mathcal{H}$ with ||x|| = 1, we obtain

$$\|\phi(f(A)g(A))\| \le \|\phi(f(A))\| \|\phi(g(A))\|$$

Corollary 2.1. Let A be a self-adjoint operator and $f, g \in C(sp(A))$ be synchronous functions. If we take $\phi(A) = A$, then we have the inequality (1.3).

The following result follows from Davis-Choi-Jensen's inequality (see for instance [5, Theorem 1.20]).

Corollary 2.2. All as in Theorem 2.1, and f, g are non-negative and operator convex. Then by Davis-Choi-Jensen's inequality we get

$$\langle \phi \left(f \left(A \right) g \left(A \right) \right) x, x \rangle \geq \langle \phi \left(f \left(A \right) \right) x, x \rangle \left\langle \left(\phi \left(g \left(A \right) \right) \right) x, x \rangle \geq f \left(\langle \phi \left(A \right) x, x \rangle \right) g \left(\langle \left(\phi \left(A \right) \right) x, x \rangle \right) \right)$$

for any $x \in \mathscr{H}$ with $||x|| = 1$.

As a special case of Corollary 2.2, we have the following Kadison inequality:

Corollary 2.3. If we take f(t) = g(t) = t, we obtain

$$\left\langle \phi\left(A^{2}\right)x,x\right\rangle \geq\left\langle \phi\left(A\right)x,x
ight
angle ^{2}$$

for any $x \in \mathscr{H}$ with ||x|| = 1.

The following lemma is known as the McCarty inequality.

Lemma 2.1. Let $A \in \mathcal{B}(\mathcal{H})$, $A \ge 0$ and let $x \in \mathcal{H}$ be any unit vector. Then

(2.4) $\langle A^r x, x \rangle \leq \langle A x, x \rangle^r, \ 0 < r \leq 1.$

Corollary 2.4. If we put $f(t) = t^p$, $g(t) = t^q$ with $p, q \ge 0$ and $\phi(A) = A$, by (2.4) we get

$$\langle Ax, x \rangle^{p+q} \ge \langle A^p x, x \rangle \langle A^q x, x \rangle$$

for any $x \in \mathscr{H}$ with ||x|| = 1.

It should be mentioned here that $\phi(A) = X^*AX$ where X is an operator in $\mathcal{B}(\mathcal{H})$ with $X^*X = I$, is a normalized positive linear map. According to this fact we have the following remark.

Remark 2.2. If we choose $\phi(A) = X^*AX$ in (2.1), we get

$$\left\langle X^{*}f\left(A\right)g\left(A\right)Xx,x\right\rangle \geq\left\langle X^{*}f\left(A\right)Xx,x\right\rangle\left\langle X^{*}g\left(A\right)Xx,x\right\rangle$$

for any $x \in \mathscr{H}$ with ||x|| = 1.

Some particular cases are of interest for applications.

Corollary 2.5. Let $f(t) = g(t) = t^r$ where $r \ge 0$, in Remark 2.2. Then

$$\langle X^* A^{2r} X x, x \rangle \ge \langle X^* A^r X x, x \rangle^2$$

for any $x \in \mathscr{H}$ with ||x|| = 1.

Corollary 2.6. Let X be a unitary and $0 < r \le 1$ in Corollary 2.5. Then

$$\langle X^* A^{2r} X x, x \rangle \ge \langle X^* A X x, x \rangle^{2r}$$

for any $x \in \mathscr{H}$ with ||x|| = 1.

Remark 2.3. Let $A \in \mathscr{M}_2(\mathbb{C})$ be a Hermitian matrice. Define $\phi : \mathscr{M}_2(\mathbb{C}) \to \mathscr{M}_2(\mathbb{C})$ where $\phi(A) = \frac{1}{2}tr(A) \mathbb{1}_{\mathscr{H}}$. Then from inequality (2.1), we have

$$tr\left(f\left(A\right)g\left(A\right)\right) \geq \frac{1}{2}tr\left(f\left(A\right)\right)tr\left(g\left(A\right)\right).$$

The following general result for two operators also holds:

Proposition 2.1. Let A, B be a self-adjoint operators and $f, g \in C(sp(A))$ and $f, g \in C(sp(B))$ are continuous and synchronous functions, and let ϕ be a normalized positive linear map on $\mathcal{B}(\mathcal{H})$, then

(2.5)
$$\langle \phi \left(f \left(A \right) g \left(A \right) \right) x, x \rangle + \langle \phi \left(f \left(B \right) g \left(B \right) \right) y, y \rangle \\ \geq \langle \phi \left(f \left(A \right) \right) x, x \rangle \langle \phi \left(g \left(B \right) \right) y, y \rangle + \langle \phi \left(g \left(A \right) \right) x, x \rangle \langle \phi \left(f \left(B \right) \right) y, y \rangle$$

for any $x, y \in \mathscr{H}$ with ||x|| = ||y|| = 1.

Proof. Follows from proof of Theorem 2.1 by applying functional calculus for self-adjoint operator B in (2.2). However, the details are not given here.

We provide now some particular inequalities of interest that can be derived from Proposition 2.1.

Remark 2.4. By replacing B with A^{-1} in (2.5), we get

(2.6)
$$\langle \phi \left(f \left(A \right) g \left(A \right) \right) x, x \rangle + \langle \phi \left(f \left(A^{-1} \right) g \left(A^{-1} \right) \right) y, y \rangle \\ \leq \langle \phi \left(g \left(A^{-1} \right) \right) y, y \rangle \langle \phi \left(f \left(A \right) \right) x, x \rangle + \langle \phi \left(f \left(A^{-1} \right) \right) y, y \rangle \langle \phi \left(g \left(A \right) \right) x, x \rangle$$

for any $x, y \in \mathscr{H}$ with ||x|| = ||y|| = 1.

Furthermore, by taking supremum over $x \in \mathscr{H}$ with ||x|| = 1, and $y \in \mathscr{H}$ with ||y|| = 1 in (2.6) respectively, we obtain

(2.7)
$$\|\phi(f(A)g(A))\| + \|\phi(f(A^{-1})g(A^{-1}))\| \\ \leq \|\phi(g(A^{-1}))\| \|\phi(f(A))\| + \|\phi(f(A^{-1}))\| \|\phi(g(A))\|.$$

Remark 2.5. If we put in (2.7), $\phi(A) = A$ and $f(t) = t^p$, $g(t) = t^q$ where $p, q \leq 0$, we get

$$||A^{p+q}|| + ||A^{-p-q}|| \le ||A^p|| ||A^{-q}|| + ||A^{-p}|| ||A^q||.$$

The following multiple operator version of Theorem 2.1 holds:

Proposition 2.2. Let $A_i \in \mathcal{B}(\mathcal{H})$ be self-adjoint operators and ϕ_i normalized positive linear maps (i = 1, ..., n). If $f, g \in C(sp(A_i))$ are continuous and synchronous, then

$$\sum_{i=1}^{n} \langle \phi_i \left(f\left(A_i\right) g\left(A_i\right) \right) x_i, x_i \rangle \ge \sum_{i=1}^{n} \langle \phi_i \left(f\left(A_i\right) \right) x_i, x_i \rangle \sum_{i=1}^{n} \langle \phi_i \left(g\left(A_i\right) \right) x_i, x_i \rangle$$

for each $x_i \in \mathscr{H}, i \in \{1, ..., n\}$ with $\sum_{i=1}^n ||x_i||^2 = 1$.

Proposition 2.3. Let $A_i \in \mathcal{B}(\mathcal{H})$ be self-adjoint operators and ϕ_i normalized positive linear maps (i = 1, ..., n). Let $\omega_1, ..., \omega_n \in \mathbb{R}_+$ be any finite number of positive real numbers such that $\sum_{i=1}^n \omega_i = 1$. If $f, g \in C(sp(A_i))$ are continuous and synchronous, then

$$\left\langle \left(\sum_{i=1}^{n} \omega_{i} \phi_{i}\left(f\left(A_{i}\right) g\left(A_{i}\right)\right)\right) x, x\right\rangle \geq \left\langle \left(\sum_{i=1}^{n} \omega_{i} \phi_{i}\left(f\left(A_{i}\right)\right)\right) x, x\right\rangle \left\langle \left(\sum_{i=1}^{n} \omega_{i} \phi_{i}\left(g\left(A_{i}\right)\right)\right) x, x\right\rangle \right\rangle$$

for any $x \in \mathscr{H}$ with $\|x\| = 1$.

2.2. *D*-Synchronous Functions. The quadruple (f, g, h, k) is called *D*-Synchronous (*D*-Asynchronous) on *I* if

$$\det \begin{pmatrix} f(s) & f(t) \\ g(s) & g(t) \end{pmatrix} \det \begin{pmatrix} h(s) & h(t) \\ k(s) & k(t) \end{pmatrix} \ge (\le) 0.$$

for each $s, t \in I$.

This concept is generalization of synchronous functions, since for g = 1, k = 1 the quadruple (f, g, h, k) is D-Synchronous if and only if (f, g) is synchronous on I (see [9]).

We observe that

$$\det \begin{pmatrix} f(s) & f(t) \\ g(s) & g(t) \end{pmatrix} \det \begin{pmatrix} h(s) & h(t) \\ k(s) & k(t) \end{pmatrix}$$
$$= (f(s)g(t) - g(s)f(t))(h(s)k(t) - k(s)h(t))$$

for each $s, t \in I$. For D-Synchronous (D-Asynchronous) functions, the reader is referred to [9].

Theorem 2.2. Let A be a self-adjoint operator and $f, g, h, k \in C(sp(A))$ are continuous and D-synchronous functions, and let ϕ be a normalized positive linear map on $\mathcal{B}(\mathcal{H})$, then

(2.8)
$$det \begin{pmatrix} \langle \phi(f(A)h(A))x,x \rangle & \langle \phi(f(A)k(A))x,x \rangle \\ \langle \phi(g(A)h(A))x,x \rangle & \langle \phi(g(A)k(A))x,x \rangle \end{pmatrix} \ge 0.$$

Proof. Since the quadruple (f, g, h, k) is D-synchronous, then

$$0 \le (f(s) g(t) - g(s) f(t)) (h(x) k(t) - k(s) h(t))$$

= f(s) h(s) g(t) k(t) + g(s) k(s) f(t) h(t)
- f(s) k(s) g(t) h(t) - g(s) h(s) f(t) k(t)

this is equivalent to

(2.9)
$$f(s) h(s) g(t) k(t) + g(s) k(s) f(t) h(t) \\ \ge f(s) k(s) g(t) h(t) + g(s) h(s) f(t) k(t)$$

Fix $s \in [a, b]$, and apply the functional calculus for the operator A in (2.9), we deduce

$$f(s) h(s) g(A) k(A) + g(s) k(s) f(A) h(A)$$

$$\geq f(s) k(s) g(A) h(A) + g(s) h(s) f(A) k(A)$$

Since ϕ is normalized positive linear map we get

$$f(s) h(s) \phi(g(A) k(A)) + g(s) k(s) \phi(f(A) h(A)) \geq f(s) k(s) \phi(g(A) h(A)) + g(s) h(s) \phi(f(A) k(A)),$$

which is clearly equivalent with

$$\begin{aligned} f\left(s\right)h\left(s\right)\left\langle\phi\left(g\left(A\right)k\left(A\right)\right)x,x\right\rangle+g\left(s\right)k\left(s\right)\left\langle\phi\left(f\left(A\right)h\left(A\right)\right)x,x\right\rangle\\ \geq f\left(s\right)k\left(s\right)\left\langle\phi\left(g\left(A\right)h\left(A\right)\right)x,x\right\rangle+g\left(s\right)h\left(s\right)\left\langle\phi\left(f\left(A\right)k\left(A\right)\right)x,x\right\rangle\end{aligned}$$

for each $x \in \mathscr{H}$ with ||x|| = 1.

Apply again functional calculus we obtain

$$\begin{split} f\left(A\right)h\left(A\right)\left\langle\phi\left(g\left(A\right)k\left(A\right)\right)x,x\right\rangle+g\left(A\right)k\left(A\right)\left\langle\phi\left(f\left(A\right)h\left(A\right)\right)x,x\right\rangle\\ \geq f\left(A\right)k\left(A\right)\left\langle\phi\left(g\left(A\right)h\left(A\right)\right)x,x\right\rangle+g\left(A\right)h\left(A\right)\left\langle\phi\left(f\left(A\right)k\left(A\right)\right)x,x\right\rangle. \end{split}$$

Again, since ϕ is normalized positive linear map we get

$$\phi(f(A) h(A)) \langle \phi(g(A) k(A)) x, x \rangle + \phi(g(A) k(A)) \langle \phi(f(A) h(A)) x, x \rangle$$

$$\geq \phi(f(A) k(A)) \langle \phi(g(A) h(A)) x, x \rangle + \phi(g(A) h(A)) \langle \phi(f(A) k(A)) x, x \rangle$$

or

$$(2.10) \langle \phi(f(A) h(A)) y, y \rangle \langle \phi(g(A) k(A)) x, x \rangle + \langle \phi(g(A) k(A)) y, y \rangle \langle \phi(f(A) h(A)) x, x \rangle \geq \langle \phi(f(A) k(A)) y, y \rangle \langle \phi(g(A) h(A)) x, x \rangle + \langle \phi(g(A) h(A)) y, y \rangle \langle \phi(f(A) k(A)) x, x \rangle,$$

for each $x \in \mathscr{H}$ with ||x|| = 1.

Finally, on making y = x in (2.10) we deduce the desired result (2.8).

Remark 2.6. If we take $f(t) = t^p$, $g(t) = t^q$, $h(t) = t^r$, $k(t) = t^s$ where $p, q, r, s \ge 0$ and $\phi(A) = A$ in (2.8), then

$$\left\langle A^{p+r}x,x\right\rangle \left\langle A^{q+s}x,x\right\rangle \geq \left\langle A^{p+s}x,x\right\rangle \left\langle A^{q+r}x,x\right\rangle$$

for any $x \in \mathscr{H}$ with ||x|| = 1.

Proof. The proof is similar to the proof of Theorem 2.2. The details are omitted.

References

- C. Andréief, Note sure une relation pour les intégrales définies des produits des fonctions, Mém. Soc. Sci. Bordeaux. 2 (1881), 1-14.
- [2] R. Bhatia, *Positive Definite Matrices*, Princeton University Press, (2007).
- [3] P.L. Čebyšev, O približennyh vyraženijah odnih integralov ćerez drugie, Soobšćenija i protokoly zasedani Matemmatičeskogo občestva pri Imperatorskom Har'kovskom Universitete, No. 2, pp. 9398; Polnoe sobranie sočineni P. L. Čebyševa. Moskva Leningrad, 1948a, (1882), 128-131.
- [4] P.L. Čebyšev, Ob odnom rjade, dostavljajušćem predel'nye veličiny integralov pri razloženii podintegral'no funkcii na množeteli, Priloženi k 57 tomu Zapisok Imp. Akad. Nauk 4, Polnoe sobranie sočineni P. L. Čebyševa. MoskvaLeningrad, 1948b, (1883), 157-169.
- [5] T. Furuta, J. Mićić, J.E. Pečarić, and Y. Seo. Mond-Pečarić method in operator inequalities, (2005).
- [6] G.H. Hardy, J.E. Littlewood, and G. Pólya, *Inequalities*, 1st and 2nd edns, Cambridge University Press, Cambridge, England, 1934, 1952.
- S.S. Dragomir, A concept of synchronicity associated with convex functions in linear spaces and applications, Bull. Aust. Math. Soc. 82(2) (2010), 328-339.
- [8] —, Čebyšev's type inequalities for functions of self-adjoint operators in Hilbert spaces, Linear and Multilinear Algebra., 58(7) (2010), 805-814.
- [9] —, Inequalities for D-synchronous functions and related functions, RGMIA Research Report Collection, 19 (2016).
- [10] —, Some trace inequalities of Čebyšev type for functions of operators in hilbert spaces, Linear and Multilinear Algebra., (2015), 1-14.

- [11] S.S. Dragomir, J. Pečarić and J. Sándor. The Čebyšev inequality in pre-Hilbertian spaces. II, In: Proceedings of the third symposium of mathematics and its applications; Timişoara; 1989. p.7578. Rom. Acad., Timişoara, 1990. MR1266442 (94m:46033).
- [12] D.S. Mitrinović, J.E. Pečarić and A.M. Finc, Classical and new inequalities in analysis, Kluwer Academic Publishers, 1993.
- [13] D.S. Mitrinović, J. Pečarić, On an identity of D.Z. Djoković. Prilozi Mak. Akad. Nauk. Umj. (Skopje). 12 (1991), 2122.
- [14] D.S. Mitrinović and J.E. Pečarić, *Remarks on some determinantal inequalities*, C. R. Math. Rep. Acad. Sci. Canada. **10** (1988), 41-45.
- [15] G. J. Murphy. C^{*}-Algebras and Operator Theory, Academic Press, San Diego (1990).
- [16] J.E. Pečarić, R.R. Janić and P.R. Beesack, Note on multidimensional generalizations of Čebyšev's inequality, Ser. Mat. Fiz. bf735 (1982), 15-18.

¹Department of Mathematics, Mashhad Branch, Islamic Azad University, Mashhad, Iran. *E-mail address:* hrmoradi@mshdiau.ac.ir

²Department of Mathematics, Mashhad Branch, Islamic Azad University, Mashhad, Iran. *E-mail address:* math.erfanian@gmail.com

³Mathematics, College of Engineering and Science, Victoria University, P.O. Box 14428, Melbourne City, MC 8001, Australia.

E-mail address: sever.dragomir@vu.edu.au